SUBJECT: MATHEMATICS
CHAPTER: Indefinite Integrals

1. [—— dx =

e*-1

a. logle*—1) — x +¢
b. log(1 —e*) +c¢
c.log(l—e*)+ x +c
d. None

2. [(tanx + cotx)dx =
a. logtanx + ¢
b. log(sinx + cosx) + ¢

C. logx + ¢
d. None

3. [sin(logx) + cos(logx) dx =
a. xsin(logx) + ¢
b. x cos(logx) + ¢
c. sin(logx) — cos (logx) + ¢
d. None

4. [e~108% dx =
a. —e~logx 4 .
b. —xe~198% 4+ ¢
c. logx+ ¢
d. xe~198% 4 ¢

a. x—tanx +c

b. 1/x—tan(1/x) + ¢
c. 1/x+tan(1/x) +c
d. None



dx=

6. [ 2
a. log(cosvx) + ¢
b. log(secvx) + ¢
c. 2 log(sec \/97) +c
d. None

453
1. fx8+1 dx
a. log(x®+ 1) +c
b. 4tan"t(x*+ 1) + ¢
-1(1 4
C. 4tan (4x )+c
d. tan 1x*+¢

8. Iff\/lz_xj dx = k.sin"1(2%),then k =
a. Log 2
b. % log 2
c. (log2)*
d. 1/2

f CoSs 2x

(sinx+ cos x)?2

" sinx+cosx

b. log(sinx + cosx) + ¢
c. log(sinx —cosx) + ¢
d. log(sinx + cosx)? + ¢

1

V3—4x

8 ——— +
" 24/3-4x ¢
.2V3 —4x +cC
1

V3—4x-+ ¢

10. | dx =

o oo




(4x+3)

11. f(3x+7) dx =
4
a. —X
19
b. ?log(Bx +7)+ ¢
C. %x — %log(3x +7)+¢c
d. %x— log(3x+7)+ ¢
12. [ x2* dx

ZX
a. @(x +logx) + ¢
ex
b. (log;) +c
(x.log2 — 1) +c

2x

log2
ZX

¢ og2y?

d. none
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14. [((x + 1)) e*dx
a. xe*+¢c
b. x%e*+c
c. (x+1)e*+c
d. (X*+1)e*+c



a. —tan~! (\/_tan ) +c
el -1(_— ad
b. —=tan (\/gtan 2) +c
c. —tan~1 (tan f) +c
7 2
d. Ltan? (tanf) +c
4 2

16. [(sin*x — cos*x) dx =
CcOoS 2x
a.
2
b —sin2x

2

sin 2x
+C
2

—CO0S 2x
2

+C

+C

C.

+C

(a*+b*)?

dx =
(a/b)* (b/a)*
a. loge(3) * loge(2) rox+e
@b  (b/a)*
"loge)  loge(D)
c. (a/b)*log(a/b)+(b/a)* log(b/a)+2x+c
d. (a/b)* log(a/b)-(b/a)* log(b/a)-2x+c

17.

+2X +C

COSGC X
18. f4+9cot2 dx
3cotx

d. -gta ( )
b. —tan (SCOtx) +c

6 4
c. slog (4 + 9cot?x) + ¢
d. —tan™? (SCOtx) +c

6 2




19.1F f -

—— = = k.tan"!(M.tanx/2) + ¢ then
k:
k=2

/3
M=4/3

a
b.
C.
d. M=2/3

20. [ cosec3xdx =
a. %(—cosec x.cotx) + %log (cosec x + cotx) + ¢

b. %(cosec x.cotx) + %log (cosec x + cotx) + ¢
C. %(cosec X.cotx) — %log (cosec x + cotx) + ¢
d

: %(—cosec X.cotx) — %log (cosec x + cotx) + ¢

21. [ |5—=dx = g(x) +c where g(x)=

a. 2/3cos*x
3
b. 2/3sin” 1(x—

a3

N——

22. [(logx)* dx then I, + l,4=
a. (xlogx)”
b. x(logx)*
c. n(log x)
d. (log x)**

23. [ 5221 gy = A cosec x + B, then

cotx—tanx

a. A=-1/2
b. A=-1/8
c. A=-1/4

d. None



2x2+3 P x=1 11X :
24, f(xz—l)(x2+3) dx if I=Alog—+ Btan™* ~then A& B is

a. -1,1
b. 1,-1
c. %2,%
d. -%4,%

25. [ 32x3. (logx)?dx =
a. 8x*(logx)? + ¢
b. x*[8(logx)? — 4logx + 1] + ¢
c. x*[8(logx)? — 4logx] + ¢
d. x3[(logx)? + 2logx] + ¢



